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include <stdio.h> #include <stdio.h=>
int main() { int main() {
int n int &, e
double r, ans; double r, ans;
scanf("%d", n); scanft({"%d", &n);
if n>=0 1f dewanall)
r=2; b
d else §
e r = 1/2.0; [
e Sl
= T, 3
4
ans = 1;
e o . o ans = 1;
for (1 =1; 1< 3} | for (1= 1; Gwismig ii+)
akis T Ky ans *= r;

printf("%sd\n", ans) printf("sf\n", ans);

return ©; return 0;
} }
A a2 15h sa W e i sla (o5ai 0) 283 e dladl S An 5505, S axki2Y ) gu
a = a-b;
b = a+b;
a = b-a;
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#include <stdio.h> (e ) +) (2o i 50 o s dad 4 (i85 A
int main() { 1
int i,j,k; 2 3
k& 1: 4 56
for (i =1; i <= 4; i++) { 7 8 9 10

for (3 = 1; j <= 1; j++) {
printf(" %d", k);
k++;

}
printf{"\n");

}
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#include <stdio.h>

int main() {
int n;

scanf ("%d", &n);

while (n > 0 && (n%10)%2 == 0)

n /= 10;
if (n == 0)
puts ("YES") ;
else

puts ("NO") ;

return O0;
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#include <stdio.h>

int main() {
double x,y;
int 1i,3;

scanf ("%1f %$1f",6&x,&y) ;

if (x > 1 && x <
if (y > 1 &&
puts("1") ;
} else if (y > 3
puts ("4") ;
} else if (y > 5
puts ("7") ;
} else {
puts ("0") ;

4) {
< 3) {

<

&& y

&& y

}

} else if (x > 4

if (y > 1 && y
puts ("2") ;

} else if (y > 3
puts ("5") ;

} else if (y > 5
puts ("7") ;

} else {
puts ("0") ;

&& x <
< 3)

—~—

&& y

&& y

}

} else if (x > 7
if (y > 1 &&
puts("3") ;
} else if (y > 3
puts("6") ;
} else if (y > 5
puts ("9") ;
} else {
puts ("0") ;

A

&& X
< 3)

<
)

&& y

&& y

}

} else {
puts("O") £

do daoly

< 3) {

< 7) {

7 |

<5 {

<7 {

10) {

< 35) {

<7 {

p9 daoly
#include <stdio.h>
#include <math.h>

int main() {
double x,y;

int i,3;

scanf ("%$1f %1f",&x,&y) ;

(int) floor((x - 1)/3);
(int) floor((y - 1)/2);

3

if (1 <0 ||
puts ("0") ;
else
printf ("$d\n",j*3+i+1) ;

i>2 1 3<0 (] 3>2)
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#include <stdio.h>
#include <math.h>
int main() {

double x0,x,a;

scanf ("%$1f", &a) ;

x=1;
printf ("%$.10£f\n", x) ;
do {

x0 = x;

x = cos(a*x) ;
printf("%$.10£f\n",x) ;
} while (fabs(x-x0) >= 0.00001) ;

return O;
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#include <stdio.h>

int main() {
int n;
double x0, x1, x2, yO,yl,y2, dx1l,dx2, dyl,dy2;
double area = 0;

scanf ("%d", &n);
scanf ("$1f $1f", &x0, &yO0);
scanf ("%$1f %1f", &x1, &yl);

// read the rest of n-2 vertices
for (int 1 = 2; i < n; i++, x1 = x2, yl = y2) {
scanf ("$1f %1f", &x2, &y2);

dxl = x1-x0;

dyl = yl-yO;
dx2 = x2-x0;
dy2 = y2-yO0;

area += (dxl*dy2-dyl*dx2)/2.0;

}

// take abs

if (area < 0)
area = -area;

printf ("$£f\n", area);

return O;




